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/Vr'/,)') g()()-—' x5l 2 9’(5‘)= ZX'SI'h(x)+X1-c0$()()
b) h(x)= 'l/_, (4)(1‘4 —79 CY)— ._._-—- (Q)(+4)+1/—’ 4

() k(x)= (1x-%)cosCéx) —>;‘_{7\4__1_;u&xlt&x~3) V

hilx)= 2 cosCax)+(2x-3)-(=srm(4x)-4
k' ()() = 1 cos(l{x) (S’x 42) SInClcx)

Vr. 0 ) F(x)= )( 5tn(x) = F(x)= 1-srlx)+ X cos(x)

b) F(x)= ax. cos(x) = F'(x)= 3-Cos(x) +3x - -(=5n(x))
F (%) = 3 coslx) - 3% $Inlx)

C) FL¥) =-fGsnpnd, -F’—’; FG)=3 V%" +(3x+2). 4_

29%

; o _ ! s . =7. ! 2 ___3)_'1__
d) F) = (1x-3) 7% = f;CX) VX +(2x s

e) H) = ¥x -cos(x) = Fix)=1 —F-X_ cos(X)+9x"- (=51n (y))

3TV ety " sinly)

X

F) P = (5-3 x) $inCy) = Fey) = =3:50n(x) 4 (53 ). cos(y)

q) Fix)= = cos(x)= 2-%""7 . cos(x)

i ? cos(x) + £ («;/h(y))

F'C)():-—._z_ cos (x) - —:L—-Sl'h (x)
X" X
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2 Z)h) FO = sn () -cos(x) = Fld=costid-cos(x) V

F(x) = cosCx)-Coslx) +5rn(x) - (~50n(x))
M= (Cos D)™ = (srn(x)”°

() FO0= X crnly) = F'0)=2x- sintx) +x°

- €os(x)

A
j) Flx)= _.;%_.cosCx): X *-cos(x)
1.3 -
P (y)= -"Zx Z.C05(%X) + X 2 (*;m(x))
Pt pmids cos()' L . gr (x
7-"]1/><° : : Tx' )

k) #0= ILosrn (. (2-x)

FCx) = _Zf cos(x)e(7-x) + %s"n(x%(—'l)

F'(x) = 9 Leeos (%) (2~%) - - T sin(x)

L) K= A7 Ax = 437 7
F'(x)=”"f?‘-§'-><-4"— P
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